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Candidates are required to give their answers in
their own words as far as practicable.

qlemeff JurayT 3 wsgl F g I S
The figures in the margin indicate full marks.
39Td & 37 QI & T § |
Answer from all the Parts as directed.
fademgar a3t ym @ IW S |
Part— A
T - A
(Objective Type Questions)

(Fgfre ww)

1. Choose the correct option from the following :
2x10=20
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ﬁmﬁ«rﬁaﬁﬁﬁa@ﬁmwwaﬁ:

(a) Logic is concerned with
et il Feu ®
(i) Only formal truth
A e I 8
(i) Only material truth
w3 ATt Wl &
(iify Boththe above
I A &
(iv) None of these
=i @ B T
(b) Theterm ‘Forest'is:
‘S’ 98 3 ‘
() Collective
HHgara
(ii) indefinite
CITIEET
(iii) Concrete
FEEIR]
(iv) Al ofthese
i @ of
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(c) ‘O’ proposition distributes its :
'O’ qEaTH 1 ATE B ¢
(i) Only subject

Fad A
(i) Only predicate
Fae fau
(iii) Both subjectand predicate
w7a w fada
(iv) None ofthese
T & HI3 T
(d) A logical proposition consists of :
T ATk AT R
(i) Two parts (i) Three parts
g M A= 3
(iii) Four parts (iv) Fiveparts
(e) The characteristics of proposition is :
T & @ 2
(i) Truth
goqdl
(i) Falsity
AT
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(iii) Both (i) and (i)
(i) 3 (i) <
(iv) Noneofthese
T & B T |
() The obversion of ‘E’ proposition s :
e ST Wi B R ‘
i A (i) E
AH ' Ef
(i) | vy O
13 of
(@ -(Dot)isa symboi of
. (3e) Tl 7 :
(i) Conjunction
HASH
(ii) Disconjunction
ferier =1
(iii) Negation
fRus =
(iv) Implication
HATEH Hl

(h) The logical relation between ‘All men are
wise’ and ‘some men are not wise' is :
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et s R & T ‘5 S T T
& 3 s e R

(i) Subaltern (i) Contrary
IqTHHE o =1
(i) Sub-contrary (iv) Condradictory
- faudia =t SATETAS I
(i) ‘FESAPO'is mood of :
‘FESAPO' I 2 :
() Firstfigue (i) Secondfigure |
TR JTHR A et arepR |
(iii) Third figure (iv) Fourth figure
g R | =g R A

() ‘Hariiswise,forhe is careful, as all wise men
are careful'. The syllogism suffers from :
g 2, Fife a8 T @ I TN
wwﬁ‘ﬁwaﬁ'mmﬁaﬁ:
(i) The fallacy of undistributed middle
SYeATH HEAadl Ug W1 QY
(ii) Illicit minor

Ffed Y TR
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(iii) The fallacy of four terms
gl QY
(iv) licit major
Ffem o4 Te
Part-B
T - §
(Short-answer Type Questions)
(wg-Iad ¥¥)
Answer any four questions of the following :
5x4 =20
frferfaa § & Fel ¥R wEl F I
-0 Exblain the subject matter of logic.
ThIR fvg-aw = w®
3. Whatdo you understand by the middle, minor and
major terms ?

m,@wm@ﬁmwm% ?

4. Distinguish between Term and Words.
Te 3 o A IR T |

5 “O" cannot be converted. Discuss.

v T T gy T ® | fdE |
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If A and B are true statements and x and y are
false, which of the following is false ?

If A 3R B 9 WA 2, 3 x de y = at
frfofaa o o s € 7

@@ (AvB).(x.y)

(b) (A.x)v(AvB)

What do you mean by distribution of Terms ?
Discuss.

vel Y =y | 379 = G § ¢ faaem |

Part-C
qr -9
(Long-answer Type Questions)

(v -3wt weA)

Answer any three questions of the following :
10x3 =30

frafiRea # @ el fF sl & s E

Distinguish between formal and material truth. Is

Logic concerned with both ? Discuss.

I Tedl T arias Tt § W saensd |

T YT S @ deiftg & 7 fyamm wt |

Reduce the following sentences to their logical
form and determine their quality and quantity.
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10.

T

12.

frefaftaa 1 R 3 ke w4 A wiafia
FUT 3% O T qIRATT = frulfa KT
(a) Allpoliticians are not liars
it Tt freaerd 7€ R
(a) Hardly any student wil fail in logic

e & é et ek 3 g @

Give the converse and obverse of the following
proposition :

PR ATl % ST Td e waeTed :
(a) Books are aiways useful.

gk T ETHCES B €

(a) Teachersare generally poor.

RyreTeh TUTOTET T B ® |

‘All men are not happy’. Construct one syllogism
in each figure to prove this conclusion and name
the figure and mood.

et v et i 3w P ) firg #0 % o
i FHR A TE AR H T IS 3k 3g%
ST AT T T AW e |

Explain and illustrate Bullean interpretation of
categorical propositions.

e et 1 el e 1 AeTE S |

N/
- 000

XZ - 3213 (1,320) (8} UG(Sem-1) — Phil

(MJC -1)



